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Level 2 Biology, 2016

91156  Demonstrate understanding of life processes 

at the cellular level

9.30 a.m. Friday 18 November 2016 

Credits: Four

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of life 
processes at the cellular level.

Demonstrate in-depth understanding of 
life processes at the cellular level.

Demonstrate comprehensive 
understanding of life processes at the 
cellular level.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more space for any answer, use the page(s) provided at the back of this booklet and clearly 
number the question.

Check that this booklet has pages 2 – 11 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Achievement
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No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.
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Annotated Exemplar Template 

 

Achieve exemplar 2016 

Subject: Biology Standard: AS91156 Total score: 11 

Q 
Grade 

score 
Annotation 

1 A4 

a) Only three labels are attempted rather than the five required. 
b) Correctly states the Identical DNA is produced. 
c) Correctly states that an enzyme catalyses a chemical reaction 

and that it is responsible for the “unzipping” of the molecule. 
Enzyme concentrations is stated as a factor affecting enzyme 
activity. 

2 A3 

a) And b) both incorrectly relate to Meiosis rather than Mitosis. 
Part c) – Diffusion is defined and the statement that cell division 
occurs in skin cells can be treated holistically as a reference to 
the purpose of Mitosis required in part b) 
 

3 A4 

The word equation for aerobic respiration is correct and that for 

photosynthesis omits the need for sunlight so is partially correct. The sites of 
both processes are stated and the Merit statement that the reactants of one 

process are the products of the other is correct. As 3 X M are needed for M5 

this cannot increase the grade awarded. 

 


